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TDC (CBCS) Odd Semester Exam., 2021
held in March, 2022

PHILOSOPHY

( Sth Semester )
Course No. : PHIGE-501T
( Logic )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

The figures“in the margin indicate full marks
for the questions

SECTION—A

Answer any twenty of the following questions :
| 1x20=20

1. Is logic a normative science?

2. Mention any one fundamental law of thought.

3. What is the truth value of a proposmon?
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10.

11.

12.

13.

14.
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. Is logic concerne
truth or both?

(2)

d with formal truth or materjy)

. What is the ideal of logic?

Give an example of E proposition.
Which term is distributed in a proposition?

If E proposition is' true, then what is the truth
value of O proposition?

Convert the following sentence into logical
proposition :

“Only honest persons are happy.”

How many oppositions of proposition are there

according to Aristotle?

What is immediate inference?

State one rule of obversion.

Write one valid mood of Second Figure.

What is the position of middle term in the Third
Figure?
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22.
23.
24.

25.
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How many propositions are there in syllogism?
What is the symbol of implication?

If p is true and q is false, then what is the truth
value of pv q?

Mention one utility of symbols in logic.
Symbolize the following sentence :

“It is not the case that either Joly or Riya will win
the match.”

How many basic truth functions are there inlogic?

How many rules of inference are there in formal
proof of validity?

State the rule of disjunctive syllogism.
State the rule of hypothetical syllogism.
State the rule of Modus Tollens.

State the rule of absorption.
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27.

28.

29.

30.

31.

32.

33.

34‘
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(4)

SECTION—B
2x5=] 0

ve of the following questions :
Define logic.

Define argument.

Define universal proposition.

What is a general proposition?

Define conversion.

State the rule of syllogism related to quantity.

Define tautology. '

If A and B are true statements, and X and Y are
false statements, determine the truth value of the
following statement form :

(AD~B)v(~Y-X)

Define formal proof of validity.

( Continued )
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35. For the following argument, state the rule of

inference by which its conclusion follows from the
premise :
(A-B)>C
- (A-B)D[(A-B)-(]

SECTION—C
Answer any five of the following questions : 8x5=40
36. Explain the nature and scope of logic. 4+4=8
37. Explain the relation between truth and validity
with examples. 8
38. What is simple proposition? What are its different
forms? Explain each of them with examples.
2+2+4=8
39. What do you mean by opposition of proposition?
Explain the traditional square of opposition with
examples. 2+6=8
40. Convert, obvert and contrapose the following :
2+2+4=8

22J/961

(a) Allmen are mortal.

(b) Some students are not honest.
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41. Test the validity or

42.

43.
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invalidity of the following

i
of Venn diagram : 444y

syllogism by means
ers are philosophers,

Jists are philosophers,

s are idealists.

(a) Some reform
So some idea
Since all reformer

(b) Some mammals are not horses,

For no horses arc. centaurs, and
All centaurs are mammals.

Use truth table to characterize the following

statement forms as tautologous, contradictory or
4+4=8

contingent :
(a) [p>(p291>4
(b) polp>9>d

Use truth table to determine the validity or
invalidity of the following argument forms : 4+4=8

(a) (pva>(p-9
~(pvq)
~. ~(p-9
(b) (pva>(p-9
p-q
pvaq

( Continued

44. State the justification for each line that is not a

premise for the following arguments :

(a) (i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(b) (i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)
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O@OR
~SO(ToU)
Sv(vD
~S).'.RVU
ToU
(@DoR-(T>oU)
QvT

RvU

WoX
(WoY)o(ZvX)
(W-X)oY

~Z )X

W o (W-X)
Wov

ZvX

X

4+4=8
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45. Construct formal proof of validity for the
following arguments : 4+4=g
(a) Ev~F
Fv(EvQG
~E
G

(b) ToU
Nv ~U
~N-~W
T

* & &

22J—1310/961 2021/TDC/CBCS/ODD/
PHIGE-501T/064


Bishwajit
Typewritten text
Downloaded from https://elearningbengali.in


